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c(uy=1+u cos(p-u/q)
s(u)=u sin(p-u/q)

x(t,u) = c(u) * cos(ml *t)
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rl1(t)=al+(1-al)*cos(t)
r12(t)=b2*cos(2*t)
r13(t)=b3*cos(3*t)
r14(t)=b4*cos(4*t)
r21(t)=al+(1-al)*cos(2*t)
22(t)=b2*cos(2*2t)
r23(t)=b3*cos(3*2t)
r24(t)=b4*cos(4*2t)

rd1(t)=al+(1-al)*cos(4*t)
r42(t)=b2*cos(2*4t)
r43(t)=b3*cos(3*4t)
r44(t)=b4*cos(4*4t)
r31(t)=al+(1-al)*cos(3*t)
r32(t)=b2*cos(2*3t)
r33(t)=b3*cos(3*3t)
r34(t)=b4*cos(4*4t)

r51(t)=al+(1-al)*cos(5*t)
r52(t)=b2*cos(2*5t)
r53(t)=b3*cos(3*5t)
r54(t)=b4*cos(4*5t)
rol(t)=al+(1-al)*cos(6*t)
r62(t)=b2*cos(2*6t)
r63(t)=b3*cos(3*6t)
r64(t)=b4*cos(4*6t)
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r71(t=al+(1-al)*cos(7*t)
r72(t)=b2*cos(2*7t)
r73(t)=b3*cos(3*7t)
r74(t)=b4*cos(4*7t)
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y(t,u) = c(u) * sin(ml *t)

Z(t,u) = 1.2*s(u)

x(t,u) = c(u) * r11(t) * cos(ml*t)
y(t,u) = c(u) * r11(t) * sin(ml *t)

z(t,u) = 1.2*s(u) * r11(t)

x(t,u) = c(u) * r11(t) * cos(m2*t)
y(t,u) = c(u) * r11(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * r1 1(t)

x(t,u) = c(u) * r11(t) * cos(m3*t)
y(t,u) = c(u) * r11(t) * sin(m3*t)

Z(t,u) = 1.2*s(u) * r11(t)

x(t,u) = c(u) * r21(t) * cos(ml*t)
y(t,u) = c(u) * r21(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r21(t)

x(t,u) = c(u) * r21(t) * cos(m2*t)
y(t,u) = c(u) * r21(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * r21(t)

x(t,u) = c(u) * 121(t) * cos(m3*t)
y(t,u) = c(u) * r21(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * r21(t)

x(t,u) = c(u) * r31(t) * cos(ml *t)
y(t,u) = c(u) * r31(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r31(t)

x(t,u) = c(u) * r31(t) * cos(m2*t)
y(t,u) = c(u) * r31(t) * sin(m2*t)

Z(t,u) = 1.2*s(u) * r31(t)

x(t,u) = c(u) * r31(t) * cos(m3*t)
y(t,u) = c(u) * r31(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * r31(t)

x(t,u) = c(u) * r41(t) * cos(ml *t)
y(t,u) = c(u) * r41(t) * sin(ml *t)

z(t,u) = 1.2*s(u) * r41(t)

x(t,u) = c(u) * r41(t) * cos(m2*t)
y(t,u) = c(u) * r41(t) * sin(m2*t)

Z(t,u) = 1.2*s(u) * r41(t)

x(t,u) = c(u) * r41(t) * cos(m3*t)
y(t,u) = c(u) * r41(t) * sin(m3*t)

Z(t,u) = 1.2*s(u) * r41(t)

x(t,u) = c(u) * r51(t) * cos(ml*t)
y(t,u) = c(u) * r51(t) * sin(ml *t)

z(t,u) = 1.2*s(u) * r51(t)

x(t,u) = c(u) * r51(t) * cos(m2*t)
y(t,u) = c(u) * r51(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * r51(t)

x(t,u) = c(u) * r51(t) * cos(m3*t)
y(t,u) = c(u) * r51(t) * sin(m3*t)

Z(t,u) = 1.2*s(u) * r51(t)

x(t,u) = c(u) * r61(t) * cos(ml *t)
y(t,u) = c(u) * r61(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r61(t)

x(t,u) = c(u) * r61(t) * cos(m2*t)
y(t,u) = c(u) * r61(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * ro1(t)

x(t,u) = c(u) * r61(t) * cos(m3*t)
y(t,u) = c(u) * r61(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * ro1(t)

x(t,u) = c(u) * r71(t) * cos(ml *t)
y(t,u) = c(u) * r71(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r71(t)

x(t,u) = c(u) * r71(t) * cos(m2*t)
y(t,u) = c(u) * r71(t) * sin(m2*t)

Z(t,u) = 1.2*s(u) * r71(t)

x(t,u) = c(u) * r71(t) * cos(m3*t)
y(t,u) = c(u) * r71(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * r71(t)
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